
Integrali indefiniti elementari

∫
sinx dx = − cosx+ C(1) ∫
cosx dx = sinx+ C(2) ∫
1

cos2 x
dx =

∫
(1 + tan2 x) dx = tanx+ C(3) ∫

1

sin2 x
dx =

∫
(1 + cotan2x) dx = −cotanx+ C(4) ∫

sinhx dx = coshx+ C(5) ∫
coshx dx = sinhx+ C(6) ∫

ex dx = ex + C(7) ∫
ax dx =

ax

ln a
+ C, a > 0, a 6= 1(8) ∫

xα dx =
xα+1

α + 1
+ C, α 6= −1(9) ∫

(x+ a)α dx =
(x+ a)α+1

α + 1
+ C, α 6= −1, ∀a ∈ R(10) ∫

1

x
dx = ln |x|+ C(11) ∫

1

x+ a
dx = ln |x+ a|+ C, ∀ a ∈ R(12) ∫

1√
1− x2

dx = arcsinx+ C(13) ∫
1√

a2 − x2
dx = arcsin

(x
a

)
+ C, ∀ a > 0(14) ∫

1

1 + x2
dx = arctanx+ C(15) ∫

1

a2 + x2
dx =

1

a
arctan

(x
a

)
+ C, ∀ a > 0(16) ∫

x

a2 + x2
dx =

1

2
ln(a2 + x2) + C, ∀ a > 0(17)

1



∫
lnx dx = x lnx+ C(18) ∫

arctanx dx = x arctanx− 1

2
ln(1 + x2) + C(19) ∫

arcsinx dx = x arcsinx+
√
1− x2 + C(20)

2


